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UG/3rd Sem/G/20(CBCS)

2020

ECONOMICS (General)
Paper : ECOG - DC-3(A-3)/GE-3(A-3)

(Indian Economic Issues)
(CBCS)

Full Marks : 32 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Group - A

Answer any four of the following questions : 2×4=8

1. Cite two reasons for rapid growth of population in India after independence.

2. Mention two limitations of Mahatma Gandhi National Rural Employment
Guarantee Scheme in poverty alleviation of rural India.

3. What are the major causes of massive inequality in income distribution of India?

4. State the non-institutional sources of agricultural credit in India.

5. Give two arguments against the Foreign Direct Investment (FDI) in India.

6. Mention two main objectives of land reform measures taken in India.

Group - B

Answer any four of the following questions : 4×4=16

7. Mention the factors responsible for limited impact of Green Revolution in India.
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8. Discuss briefly the problems faced by a small farmer in marketing his products
in India.

9. Highlight the problems of institutional credit in Indian agriculture.

10. Mention the policy measures for the development of the cottage and small scale
industries in India.

11. Discuss major difficulties in the measurement of national income in India.

12. Give arguments for disinvestment of government’s share from the public sector
industries in India.

13. Discuss the major weaknesses of Indian trade union movement.

14. Explain the nature of sharp inequality in the distribution of Indian national income.

Group - C

Answer any one of the following questions : 1×8=8

15. Explain the role of NABARD in providing credit for agricultural and rural
development in India.

16. Discuss the different policies of the government of India to solve the
unemployment problem.
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